



St. Louis County, Minnesota

Date of Report: 5/14/2025 1:56:03 PM

**General Details** 

 Parcel ID:
 415-0010-03731

 Document:
 Torrens - 854209

 Document Date:
 05/27/2008

**Legal Description Details** 

Plat Name: LAKEWOOD

Section Township Range Lot Block

13 51 13 - -

**Description:**THAT PART OF SW1/4 OF SW1/4 LYING N & W OF THE FOLLOWING DESCRIBED LINE COMM AT SW COR OF SEC 13 THENCE ALONG W LINE OF SAID SEC 13 ON AN ASSUMED BEARING N00DEG03'00"E 353.23 FT TO

PT OF BEG THENCE N62DEG01'45"E 334.44 FT THENCE S89DEG59'48"E 753.99 FT THENCE N00DEG 00'12"E & PARALLEL WITH E LINE OF SW1/4 OF SW1/4 810.49 FT TO N LINE OF SW1/4 OF SW1/4 & THERE ENDING

EX SLY 660 FT OF NLY 795 FT OF WLY 330 FT

**Taxpayer Details** 

Taxpayer Name FRIDAY JOSHUA E & BRIDGET E

and Address: 5302 S CANT RD
DULUTH MN 55804

Owner Details

Owner NameFRIDAY BRIDGET EOwner NameFRIDAY JOSHUA E

**Payable 2025 Tax Summary** 

2025 - Net Tax \$12,539.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$12,568.00

#### Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$6,284.00	2025 - 2nd Half Tax	\$6,284.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$6,284.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$6,284.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$6,284.00	2025 - Total Due	\$6,284.00	

**Parcel Details** 

Property Address: 5302 S CANT RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: FRIDAY, JOSHUA E & BRIDGET E

#### Assessment Details (2025 Payable 2026) **Class Code** Homestead Land Bldg Total **Def Land** Def Bldg **Net Tax** EMV Status **EMV EMV EMV EMV** Capacity (Legend) \$902,500 201 1 - Owner Homestead \$103,700 \$1,006,200 \$0 \$0 (100.00% total) Total: \$103,700 \$902,500 \$1,006,200 \$0 \$0 11328





St. Louis County, Minnesota

Date of Report: 5/14/2025 1:56:03 PM

**Land Details** 

 Deeded Acres:
 15.05

 Waterfront:

 Water Front Feet:
 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: M - MOUND

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

			Improveme	ent 1 Deta	ails (RESIDENC	CE)		
ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
	HOUSE 0		2,571		4,454	AVG Quality / 2351 Ft <sup>2</sup>	LOG - LOG	
	Segment	Story	Story Width Lengt		Area	Foundation		
	BAS	1	6	18	108	WALKOUT BAS	EMENT	
	BAS	1	11 20		220	FOUNDATI	NC	
	BAS	1	18	20	360	WALKOUT BASEMENT		
	BAS	2	0	0	1,883	WALKOUT BASEMENT		
	CW	1	12	12	144	FOUNDATION		
	DK	1	0	0	670	PIERS AND FO	OTINGS	
	OP	1	4	11	44	POST ON GRO	DUND	
	OP	1	6	7	42	PIERS AND FO	OTINGS	
	OP	1	12	24	288	FLOATING S	LAB	

Bath CountBedroom CountRoom CountFireplace CountHVAC5+ BATHS5+ BEDROOM-1C&AIR\_EXCH, PROPANE

Improvement 2 Details (ATTACHED)  Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Des  GARAGE 1978 864 1,080 - ATTACHED										
	Improvement TypeYear BuiltMain Floor Ft 2Gross Area Ft 2Basement FinishStyle Code & Day Code									
	GARAGE	1978	86	4	1,080	-	ATTACHED			
	Segment	Story	Width	Length	Area	Foundati	on			
	BAS	1.2	24	36	864	FOUNDAT	ION			

	improvement 3 Details (2016 DG)										
ı	Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & E										
	GARAGE	GARAGE 2016		1,104 1,380		-	DETACHED				
	Segment	Story	Width	Length	Area	Foundat	ion				
	BAS	1.2	24	46	1,104	-					

nant 2 Dataila (2010 DC)

Improvement 4 Details (DG)											
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code STORAGE BUILDING 2015 840 840 -											
2015	840		840	-	-						
Story	Width	Length	Area	Foundat	ion						
1	28	30	840	FLOATING	SLAB						
	2015	Year Built Main Flo 2015 84 Story Width	Year Built Main Floor Ft <sup>2</sup> 2015 840 Story Width Length	2015 840 840  Story Width Length Area	Year Built     Main Floor Ft ²     Gross Area Ft ²     Basement Finish       2015     840     840     -       Story     Width     Length     Area     Foundate						

	Improvement 5 Details (WOODSHED)										
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & De											
	LEAN TO	1985 405		5	405	-	-				
	Segment	Story	Story Width Length		Area	Foundat	ion				
	BAS	1	15	27	405	POST ON GF	ROUND				





St. Louis County, Minnesota

Date of Report: 5/14/2025 1:56:03 PM

		Impro	vement 6	Details	(ST)				
Improvement Type	e Year Built	-		Gross Ai	• •	ement Finish	5	Style Co	de & Desc.
LEAN TO	2000	84	1	84		-		•	-
Segmer	nt Story	y Width	Length	Δ	rea	Founda	ation		
BAS	1	6	14		84	POST ON G	ROUN	ID	
<u> </u>		Improven	nent 7 Det	ails (S1	ORAGE)				
Improvement Type	e Year Built	-		Cross Aı	•	ement Finish	5	Style Co	de & Desc.
STORAGE BUILDIN	IG 2000	16	0	160	)	-			-
Segmer	nt Story	y Width	Length	Δ	rea	Founda	ation		
BAS	1	10	16		160	POST ON G	ROUN	ID	
		Improvem	nent 8 Deta	ails (RE	D SHED)				
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Aı	ea Ft <sup>2</sup> Base	ement Finish	5	Style Co	de & Desc.
STORAGE BUILDIN	IG 2000	80	)	80		-			-
Segmer	nt Story	y Width	Length	Δ	rea	Foundation			
BAS	1	8	10		80	POST ON C	ROUN	۷D	
	;	Sales Reported	to the St.	Louis	County Auditor	r			
Sal	le Date		Purchase	Price		CR	V Num	ber	
05		\$665,000			182095				
		As	ssessmen	t Histo	ry				
Year	Class Code (Legend)	Land EMV	Bld EM		Total EMV	Def Land EMV	В	ef Idg MV	Net Tax Capacity
	201	\$103,700	\$888,	500	\$992,200	\$0	5	60	-
2024 Payable 2025	Total	\$103,700	\$888,	500	\$992,200	\$0	\$	60	11,153.00
	201	\$103,700	\$880,	800	\$984,500	\$0	9	80	-
2023 Payable 2024	Total	\$103,700	\$880,	800	\$984,500	\$0	\$	60	11,057.00
	201	\$99,000	\$880,	800	\$979,800	\$0	9	60	-
2022 Payable 2023	Total	\$99,000	\$880,	800	\$979,800	\$0	\$	60	10,997.00
	201	\$106,400	\$792,	900	\$899,300	\$0	5	60	-
2021 Payable 2022	Total	\$106,400	\$792,	900	\$899,300	\$0	\$	60	9,992.00
		7	Γax Detail	History	1				
Tax Year	Tax	Special Assessments	Total Ta Specia Assessm	al	Taxable Land MV	Taxable Bui	lding	Total	Taxable MV
2024	\$12,225.00	\$25.00	\$12,250	0.00	\$103,700	\$880,80	0	\$	984,500
2023	\$12,923.00	\$25.00	\$12,948	3.00	\$99,000	\$880,80	0	\$	979,800
2022	\$13,105.00	\$25.00	\$13,130	0.00	\$106,400	\$792,90	0	\$	899,300

3 of 4





St. Louis County, Minnesota

Date of Report: 5/14/2025 1:56:03 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.